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A. Choose the correct answer.
1. The woman had a
over her face.

a. band

b. veil

c. wrist

2. She is very frightened. She is trembling with ...... .

a. fire

b. danger

c. fear

3. We didn’t have any friends. We were very ...... .

a. lonely

b. terrible

c. friendly

4. My aunt is the only
I have.

a. owner

b. colleague

c. relation

B. Match A to B to form sentences.



5. We are going to get married. Please come to our ...... .

a. wedding

b. reward

c. station

6. He lit the candle with a ...... .

a. watch

b. thumb

c. match

7. The house is his. He is the ...... .

a. owner

b. servant

c. driver

8. We always
the door with a key.
a. bang

b. lock

c. lift

A
B

1. Julia Stoner
a.   came through the ventilator.

2. Helen’s mother
b.   came to repair Julia’s room.

3. Helen and Julia
c. died two years ago.

4. Some builders
d. was a violent man.

5. Dr Roylott
e. to reward his snake.

6. Dr Roylott used a small plate of milk
f.
with a stick.

7. The snake
g. died in a train accident.

8. Holmes hit the snake
h. were twins.

C. Complete the passage by choosing the correct form of the verb in brackets.

When Helen and Julia were young, their mother (1. marry / married) Dr Roylott. After the death of their mother, the girls (2. live / lived) alone with their stepfather. A few years later, Julia (3. fell / fall) in love. She (4. dies / died) mysteriously before her wedding. Now Helen (5. lives / lived) alone with her stepfather. Dr Roylott rarely (6. goes / is going) out of the house and he (7. isn’t talking / doesn’t talk) to people. He is often cruel to Helen. Now Helen (8. wants / is wanting) to get married, but she is afraid. She (9. is thinking / thinks) that she is in danger. She (10. is asking / asks) the famous detective Sherlock Holmes to find out why.

D. Fill in the blanks with the correct quantifier: a few, a little, many or much.

Sherlock Holmes is always busy solving cases. He doesn’t have 1
time to enjoy

himself. 2
people come to ask him for help. Holmes can usually solve the most

difficult cases in only 3. .............................. days. There are only 4
cases that

Holmes has trouble solving. Sometimes he needs 5
help from his friend, Dr Watson.
Holmes meets 6
interesting people. He enjoys his work very much.
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